
Subject: Re: Function BYTSCL
Posted by Steffen Kernchen on Thu, 12 Apr 2001 06:12:30 GMT
View Forum Message <> Reply to Message

hi david...

>  Alright, enough time has passed that Seffen has
>  probably passed or failed the final. Here is
>  my take on what BYTSCL does:

no, Iï¿½m just here. ;-)
I only had no time to answer. sorry.

this problem is solved! thx to you and all the other, who helped me, especially
Marc Schellens!
but I know, thereï¿½re many problems, I never dreamed of!    *g*
but now I have some time to think about it. next exercise is in 3 weeks.
I hope it is enough time!

cheers,
steffen
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